( Honours Generic/Regular Course )

Paper : ECO-HG/RC-4016
( Principles of Macroeconomics—II )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
oo TR e o :

fa) Who put forward the IS-LM model?
IS-LM ST I e ?

(b)) What is the condition for equilibrium in
the goods market?

7 TR SRAER 56 4 2
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(2)

(¢) Define effective demand.

ey wifdwm st faa |

(d) What is meant by aggregate supply?

RERS TR 3Rt & qom 0

(e) What is stagflation?

fopoerifs 5 2

(/ What is meant by unemployment rate?

R 2 3o R e e

(9) Give an assumption of multiplier.

BIP BT SSYRT By |

(h) What is Balance of Payments?
TR @] 3 9

()  Give the meaning of demonetization

R wef forgy |
.W What Js exchange ratep
Rt = f5 9
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2. Answer the following questions :

(3)

2x5=10

S 2RPTRd ed ford :

(a) What are the components of aggregate
demand?

STl SR SR e R 2

Why is the slope of IS curve negative?

IS @[ BE YIS 692

Show the differences between Current
Account and Capital Account.

s fRorl W TR REeE A ALFPRR
YT |

(d) Mention two features of inflation.

TarIfes o1 CafEr Seary 30 |

(e) What are the two types of foreign
exchange market?

taciire R TR 51 oo @ 2
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3. Answer any four of the following questions :

5x4=20

O] 2PPIYRE R (@I BRG[ Teq for

(@)

(b)

(c)

(@)

(e)
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Define aggregate demand curve. Why
does the aggregate demand curve slope
downward?

S sifen @I wew f | s o
RATCle SeTFICe BIeeI 69 2

What are the limitations of IS-LM
model?

IS-LM W29 Smepz & & 2

Explain the importance of multiplier.
BIF] SFF T 471

What are the measures to control
inflation?

e Fagt T ez & & o

Define Phillips curve. What does the
short-run Phillips curve show?

Referp @@= swcen fan | zzeER Rfep aei
& aEm e

( Continued )

(S)

() Give the meaning of foreign exchange.
What are the instruments of foreign

exchange?

e Rfme e B @oke [
wifRerz & %2

Answer the following questions : 10x4=40
oo 2T Ued o
(a) Define IS-LM curve. Explain the IS-LM
model with the help of diagram.
IS-LM R/ e fil | IS-LM SfZeor foad

S R 40
Or/ 941

Explain how LM curve is derived.

LM @1 e srad a1 &, 0 90

(b) Explain the causes of demand-pull and

cost-push inflation.

s vfm-REre e -

PR T 9|

( Turn Over )
24A/742



(6) (7)

Or / 91 Or / Al
Discuss‘ g Eff?CtS. Of. (kg m What is foreign exchange market?
R CLOR anicl distbition. Explain the functions of foreign
T WIE Reqem eoqe ;[Erﬁn%a SR ' exchange market. -
T e Rffey ta[ 67 el [t wee
FRIESA T F4T 1

(¢) What is multiplier? Discuss the working -
of multiplier. * % &

@ 7 8T IREE Scers 941 |

Or / §2=r

Explain the nature of short-run and
long-run aggregate supply curve.

(d) What are the causes of disequilibrium
In Balance of Payments? Mention the
measures to correct the disequilibrium
in Balance of Payments.

(AT o SIPHRIeR FRpE & 2
WWW@%@@W«W
SCEY 91 |
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